INDIVIDUAL GROWTH

Results: 0% of students met target
Student Baseline Target Actual Met Y/N?
Number of Students: 0 0

BANDED/RANGE-BASED/TIERED

Results:

0%

of students met target
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Met Y/N?
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Number of Students: 0
Basline Range| Baseline

Low Range high |Target
0 15 30
16 25 38

26 35 43

36 50 48




CLASS-WIDE MINIMUM RIGOR

Results: 0%  of students met target
Student Baseline Target Actual Met Y/N?
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
Number of Students: 0 0
All students will score at least: 0

CLOSING THE GAP

Results:

0%

of students met target
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Met Y/N?
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Total Possible points

100




BASIC GROWTH

Results: 0% of students met target
Student Baseline Target Actual Met Y/N?
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
Number of Students: 0 0
All Students will increase by: 0










